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6DKL\R�KHOG�LWV�ILUVW�HYHU�8�6��EDVHG�DFWLYLVW

UHWUHDW�RQ�-DQXDU\�������������LQ�%URRNO\Q�

1HZ�<RUN��7KH�UHWUHDW�EURXJKW�WRJHWKHU�QLQH

SDUWLFLSDQWV�DQG�WZR�IDFLOLWDWRUV�WR�GLVFXVV

DFWLYLVP�DURXQG�IHPDOH�JHQLWDO�FXWWLQJ��)*&�

RU�[NKDWQD\�DQG�RWKHU�LVVXHV�SHUWDLQLQJ�WR�WKH

'DZRRGL�%RKUD�FRPPXQLW\��7KH�UHWUHDW

FRQVLVWHG�RI�ZRUNVKRSV�DQG�LQIRUPDWLRQ

VHVVLRQV��UHIOHFWLRQ�SHULRGV��DQG�JURXS

OXQFKHV�DQG�GLQQHUV��7KH�IROORZLQJ�UHSRUW

GHWDLOV�6DKL\R
V�IRXUWK�LWHUDWLRQ�RI�WKLV�UHWUHDW�

)URP�$SULO��QG�WR�$SULO��WK������

6DKL\R�KRVWHG�LWV�DQQXDO�$FWLYLVWVZ

5HWUHDW�RYHU�=RRP��'XULQJ�WKLV

UHWUHDW��JXHVWV�KDG�WKH�RSSRUWXQLW\

WR�OLVWHQ�WR�VSHDNHUV�DERXW

DGGUHVVLQJ�DFWLYLVP�DQG�KHDOLQJ

UHODWHG�WR�)*&�DQG�EXLOG

FRPPXQLW\�FRQQHFWLRQV�WR�IXUWKHU

WKHLU�DFWLYLVP��,Q�WRWDO�����DFWLYLVWV

UHJLVWHUHG�IRU�WKLV�RQOLQH�UHWUHDW��7KH

JXHVWV�ZHUH�MRLQHG�E\�PXOWLSOH

IDFLOLWDWRUV�LQFOXGLQJ�SDVW�UHWUHDW

DWWHQGHHV�DQG�6DPHHUD�4XUHVKL

�VHH�OHIW��
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